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#[Fx = 0 = < 0 .25Ng-Ix- Osino = 0

+ fy = 0 = < No - 60030 =0.
*Losine-0. 1510c

2 x = 0 .25/p- Jing #
X =

016c0)
- Sint

-osbinfin



3 COSE = 16sint

=
tano = 3

76

0 = 10 . 619/

in susnis Base
incoume -

2- W = my = (0) (9 · 81)
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Impending motion as
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Et = 0 . 3) (50) = y
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Assume slip at 8 first.
Fo =

FA
fo : Ms No

Ncos10)
- NsNp-NsNosinso = My

N 10307-0
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Check if our assumption of Slip at Surface 8 first is true such that
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10 .N
, Fa

= 185 . 25 N

Ny = +90 . 5 sin60
- N = +25 . 79N

Fa = Ng NA

Ns =

EA = 05

began to slide

FNs No
o renation force res block mini to

11 Block 8

,
-fu 25-Wsint-E-Fp = 0

- "

TER
,
= 0 -N . -Whose = 0! (weightJumou Block Erascuneo)

↑



# 2.ok A

7T

*E

-
of YIFFO> TFA-WsinF = 0

·

v=N-Ws(
T = WsinO-NsN
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Shear and Moment Diagram .
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↓
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-

1x + 1x + M(x)= 0

Mcx) = qx -Ex
+EFy = 0 => MN-X-Vexs = D ↓

·Vax) = 9 - x2

* Symmetry= Cut2 : cut just different direction



↑

28
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